

Town of Happy Valley-Goose Bay

SCOTT PILGRIM
 PO BOX 2219 STATION B
 HAPPY VALLEY-GOOSE BAY NL A0P 1E0

Payment Notification - Pay Period	
Start Date:	11/30/2025
End Date:	12/13/2025
Deposit Date:	12/18/2025
Employee ID:	PILGS002
T4 Earnings YTD:	\$25,914.10
Gross Earnings:	\$2,222.24
Total Deductions:	\$1,326.13
Employer Paid Benefits:	\$3,069.26
Net Pay:	\$896.11
D000019255	Bank Acct #1 896.11

Earnings	Hours	Rate	Current Amount	YTD Amount
Double Time	0.00	0.00	0.00	866.52
Hourly	73.00	29.88	2,181.24	24,053.40
Overtime	0.00	0.00	0.00	403.38
Shift Differential	20.50	2.00	41.00	377.00
Vacation pay 6%	0.00	0.00	0.00	213.80
Total Earnings	93.50		\$2,222.24	\$25,914.10

Employer Paid Benefits & Employee Deductions		
Group Insurance - Employer		3,069.26 3,069.26
Total Employer Paid Benefits		\$3,069.26 \$3,069.26
Income Tax		365.28 4,106.79
Employees EI		36.44 424.98
Employees CPP		124.21 1,437.75
CUPE Local 2019		32.88 427.44
Group Insurance	<i>Mistake - issued cheque</i>	767.32 767.32
Total Employee Deductions		\$1,326.13 \$7,164.28

Time Banked Balances for this Pay Period	Opening Balance	Hours Earned	Hours Taken	Hours Remaining
------------------------------------------	-----------------	--------------	-------------	-----------------

This is not a cheque. Non-negotiable



TOWN OF HAPPY VALLEY-GOOSE BAY

P.O. BOX 40 STATION B
HAPPY VALLEY-GOOSE BAY, NL A0P 1E0
709.896.3321

RBC ROYAL BANK
HAPPY VALLEY BRANCH
36 GRENFELL STREET
HAPPY VALLEY, NL A0P 1E0

No 0000029787

19/12/2025

DD MM YYYY

PAY

*** THREE HUNDRED EIGHTY-THREE DOLLARS AND SIXTY-SIX CENTS

\$383.66

TO
THE
ORDER
OF
PILRIM, SCOTT
PO BOX 2219, STN B
HVGB NL A0P 1E0



TOWN OF HAPPY VALLEY GOOSE BAY
PER *W. Burtancey*
PER *R. MacAuldy*

⑈029787⑈ ⑆09801003⑆

⑆25⑆ ⑆357⑆ ⑆⑈

Town of Happy Valley-Goose Bay

SCOTT PILGRIM
 PO BOX 2219 STATION B
 HAPPY VALLEY-GOOSE BAY NL A0P 1E0

Payment Notification - Pay Period	
Start Date:	10/22/2025
End Date:	11/04/2025
Deposit Date:	11/06/2025
Employee ID:	PILGS002
T4 Earnings YTD:	\$18,675.60
Gross Earnings:	\$2,573.22
Total Deductions:	\$701.66
Employer Paid Benefits:	
Net Pay:	\$1,871.56
D000019029	Bank Acct #1
	1,871.56

Earnings	Hours	Rate	Current Amount	YTD Amount
Double Time	0.00	0.00	0.00	866.52
Hourly	80.00	29.88	2,390.40	17,315.46
Overtime	1.00	44.82	44.82	44.82
Shift Differential	69.00	2.00	138.00	235.00
Vacation pay 6%	0.00	0.00	0.00	213.80
Total Earnings	150.00		\$2,573.22	\$18,675.60

Employer Paid Benefits & Employee Deductions			
Total Employer Paid Benefits			
Income Tax		481.48	2,820.14
Employees EI		42.20	306.28
Employees CPP		145.10	1,031.10
CUPE Local 2019		32.88	328.80
Total Employee Deductions		\$701.66	\$4,486.32

Time Banked Balances for this Pay Period	Opening Balance	Hours Earned	Hours Taken	Hours Remaining
------------------------------------------	-----------------	--------------	-------------	-----------------

This is not a cheque. Non-negotiable

Town of Happy Valley-Goose Bay

SCOTT PILGRIM
 PO BOX 2219 STATION B
 HAPPY VALLEY-GOOSE BAY NL A0P 1E0

Payment Notification - Pay Period	
Start Date:	10/05/2025
End Date:	10/18/2025
Deposit Date:	10/23/2025
Employee ID:	PILGS002
T4 Earnings YTD:	\$16,102.38
Gross Earnings:	\$2,220.24
Total Deductions:	\$558.12
Employer Paid Benefits:	
Net Pay:	\$1,662.12
D000018966	Bank Acct #1
	1,662.12

Earnings	Hours	Rate	Current Amount	YTD Amount
Double Time	0.00	0.00	0.00	866.52
Hourly	73.00	29.88	2,181.24	14,925.06
Shift Differential	19.50	2.00	39.00	97.00
Vacation pay 6%	0.00	0.00	0.00	213.80
Total Earnings	92.50		\$2,220.24	\$16,102.38

Employer Paid Benefits & Employee Deductions			
Total Employer Paid Benefits			
Income Tax		364.74	2,338.66
Employees EI		36.41	264.08
Employees CPP		124.09	886.00
CUPE Local 2019		32.88	295.92
Total Employee Deductions		\$558.12	\$3,784.66

Time Banked Balances for this Pay Period	Opening Balance	Hours Earned	Hours Taken	Hours Remaining
------------------------------------------	-----------------	--------------	-------------	-----------------

This is not a cheque. Non-negotiable